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2019 (CBCS)

urs) Examination,

: B.A./B.Sc. 4th Semester (Hono
v | Subject : Geography

Paper : CcC-9
-3 (Economic qugrflph}')
Time: 3 Hours

Full Marks: 60

The figures in the margin indicate full marks;m it

Candidates are required to give their answers in their
i as far as practicable. :

é.!-_ Answer any ten from the following questions:
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2x10=20

(a) Define production.

*L‘: )at do you mean by ‘a,gglum:mﬁun force’ in locational theory?
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() What do you mean by Entrepot Trade?
Entrepot Trade 3#te @ e
(k) What is Golden Quadrilateral?
CTRE Spge i T ?
(I) Classify Internal Trade.
e ey fifetst 2t
(m) Write down full form of SEZ.
SEZ~93 *{7at ¥ el |

(n) Name two important fishing zones of the world.
Rovz 9t owweld w7 Sesive wewem T G|

(0) What is the importance of OPEC?
OPEC-97 oy 37
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Section-B

2. Answer any four questions from the following: : 5x4=20
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se the pi j. ...-- pflndmn Iron and Steel industry.
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3 ‘Answer any two from the following questions: .
ﬁwﬁmmﬁwmamzﬁmmwz e
(a) What are the objectives of agricultural location theory

agricultural land-use zones as stated by him.
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(b) Give reasons for the relative backwardness of the tropical seas 1n regar.d to the m::mm %
fishing. Critically analyse why marine fishing grounds are confined mainly to the ﬂ?ﬂo
water. :
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(¢) Which industry is called as Sunrise industry and why? Discuss the factors of localisation
of this industry in U. S. A. _ 3+7=10
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T'(Q Discuss the characteristics of plantation farming with reference to Tea in India. Write down
d l thﬂrends of trade of Tea in India. 7+3=10
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